-t - 2 22
2024 FV B F 2 A L RAMEF ST BAFH 1 THI L8
e 4
FREEFATP WA
= 5 3 4

i RS R KA
Ll Wz MR B

e-mail (07)3121101
ey i alex@kmu.edu.tw
X TZE NS
ik L 7 (07)3217387

< | N N

v A B ok 807 B 27 = A ®F L > K 10085

L R
SF AP EAE £ (A) -
S P ¥ A2RAF BL - £ 5p b ok () o
kiR 240,000 = PR ST LT PI00) * B0%
24,
_ 23 7 fe & % £ 28 (B ,
% i%gjiﬁ £ £3EE) £ RPN b 5 d RIS BI(%) | 20%
L /I}IJ )
(A 300,000 =
+ B)

S
pPEE & 37 b

4 ‘ oo pERERF
N AIREE B R '“%-%Z;Pﬁ K 24z SN
O - YR LIRAE AL AFR

1IEp R I2-1 FRE 2 RFIEE
ix¢ 36,000 9,000 2-1 %95 PDCA |21& pFR:
o Ho3s o P 5 ?’z%‘& 113/09~11
% 4 LRBE A R4 HE A
(=Y 5 R, 0) /175 A
B il é@/r’ # o i A
2 e B LR
e R (o
) 3 MRFE 2

#4 3
ORGP ALiRFITSEESFS pAFIR
1 FP 4122 BB E MERE
=it 136,000 9,000 5-1:%5:EELM > R
p[# RIFE o 5 e FB (113/03~11

ez = 2 RFIE) - L frg
6,000 < (2 32,000 ~/pF x 1=2,000
4843 1,000 ~/FF x 4=4,000 %) 2.
AL R 127 76,000 A~ x2.11%
=127 ~)3. & % + (1)25 B x 100 & x
4 % =10,000 ~/(2)96 & x 100 ~
=9,600 ~ 4. B j] & F' (= /qﬁﬁfﬁfﬁ"k)
9,000 ~ 5. 3¢ A (52 E* %)
1273 ~ F $n gy S @ 1 3F
% 02,000 7~ (42,000 ~/pF x
1=2,000 =) 2. 4F * % % 42 ;u(z 000
mx211%—42m)3% SIBX
100 ~=6,500 ~ 3 £ (5 % & * %
£):458 =

LE 5 14,000 ~(2,000 ~/pF x2 -]
F=4,000 ~) 2. 4 v iE 1—‘3’—%’,” 84 =~



i Fapamip B2 2R A
73 SRRE LR /100 H*

B g %ﬁ«%‘r’ A

o TEEE

FHTVRE

i?%ﬁ%i

F|ET4 Bk

i e
ORI PR ALRFITSEESS pAFR
1 fFp 4 2-3 Bagde ;;Lry %
& 36,000 (9,000 3-1 02 @HpaE 1> EERF
S B s e (113/03~06
L4 T EEA T B 113/09~12
g Mo aEage 2 KRR
o cEAESH 260 MEEZ
o g e 32 |4 TR
£ SRRE LS 2.5

oo (BRE

L NS

e 250

poo33mdp |0F

LRI I

BARAHOF 2

v AR A

e

kg o 3-4%

L ER G

BHA EH

PHEIE = E R

BiEE R 2 &

5546 -
OB YBAiRALRESS pAFR
1 EP R 1 2-3 WaR ek B %
A 36,000 9,000 4-1747 33W (>R PER
ki WEbh B L F  Rka 113/4~6
" By 1irp . f4 [113/9~11
# /280 [ B A
£ 3 A L [F
I e
& i
ORI ¥R AIRFSEESES pAFR
1R 24 R M A Z pAFR

(4,000 = x2.11%=84 <) 3. & } :
9,000 = ( 100 = x90 4 =9,000 =) 4.
B % ¢ 4,600 & (%4 4F 300 & x10 58
=3,000 & ~ EH 2 7 500 &~ EFH
i 500 % x2 #£=1,000 = ~ K* % 100
2)S. FHAHE 14000 = 6. 32
(32 2% 5.%): 816~ 7.2% % ¢ *
% 22,500 & (% BAEF 317,500
*3)

1. #EF % 18,000 ~(2,000 ~/pF x4 -
FF=8,000 ~) 2. &4 2% © 16,000
“(2 | F¥ podcast & 7| 3kAZ x4 /| FFéE
e § x2,000 ~=16,000 ~)3. 1
£ % : 1830 7~ ({» 2% podcast FAZH
—m”ﬁlw’4l | P AR 0 4

0/ ] TR » ¥ Frcfak it
p%%m3w*n4ﬁi@%%:
545 = (8,000 =~ x2.11% =169 ~
+(1f;ooo+1830)x21196—376:a)—545
~ 5. %% 116,000 ~ (4R = ¢80
~ x100 i» x2 % =16,000 <) 6. 1 4
% 01500 & 7. E R % 1 600 (300
AX2E)R FAE(F Y EH )
525 ~

1. 67 % ¢ 16,000 =(2,000 = /pF x2
| x4 $=16,000 %) 2. & %

22,400 = (80 = x70 1> x4 #=22,400
2)3. &% ¢ 1,080 (5 4F 270 ~
x1 36 x4 3=1,080 =) 4. ##1 % (&
RS N T L T
) 2,800 % (10 = x70 > x4 #

=2,800 &) 5. 4 ik - (4000m
x2.11%x4 3#=338 ~)6. 32t (7 % £

* %) 2,382 A



¥z 14,000 9,000 |1-1974324 RF i PR 1 3E 3 18,000 (2,000 ~/p&F x2 /|

pée R Guap A (KB 113/04~11  pFx2 4 =8,000 %) 2. 2 i % 12980

2 WA EE 2 B4 BB A A(Z4-4 B4 kw=2980 % xI

O ¥ o /140 Tt F A3 ARG 1168 7+ (4,000 ~

= A x2.11%x2 4 =168 <) 4. & ] 3 © 652

L E A(AIREE D163 A/43E =652 %)
5.%% 111,200 ~(80 = x70 * x2 ¥
=11,200 =)

ORGP ALiRFITSEEFS pAFIR

1P AR 24 GERMEH A2 p AFR

A3 22,000 0 1274 iR 2R PR 1 #E 3 18,000 (2,000 ~/p&F x2 /|

A AP Aok KB 113/04~11 [pFx2 4 =8,000 %) 2. H R GEFF

A wHARER2 B2 FED A 168 % (4,000 ~ x2.11%x2 4 =168 &)

¥ o B o /90 4 [T F 3.8 F 17,200 & (80 & x45 4 x2 H

RS =7,200 ~)4. i F 15960 ~ (5

w4 AL B4 kv 2,980x2 £ =5,960

W )5 B %672 A (G A e B ¢ 168

B 2/43E =672 %)

ORI BAELAFRAIAE DX

1EpHR 3122 AP RFER AT 2 LS LA

F9 24,000 6,000 6-1 ¥R IE rO(EF: 1. & % ©27,000 = (100 ~*270 *

i AR A FB(113/4~12 =27,000 ~) 2. & R % 2,000 ~ (%

i R4 BB A HE - ERTESRSE)3 R

iR 270 A(z=E£7* &)1 1,000 ~

oo A =

~F

B ORI OBALAAERIAE SR

TP 328 TAETHMEZ gL RRIAE 2

72 18,500 |0 42 7% 25 E (2R R L#EF % 112,000 =(2,000 = /P x 6

1 I PRARACR R KB (113/03~10 ] pF=12,000 ) 2.4 R i R 253

PRFE a1 R4 ¥E & 212,000 ~ x2.11%=253 <) 3. &

2R /40 + T % 13,200 < (80 = x40 * =3,200 =)

HA = 4. F 2% 11,600 < (40 =~ x40 *
=1,600 =) 5. &7 j) § (G4 3R ~ &
£):11200~ 6. 524 (5F 2B 5):
247 =

BRI oBARER %&%&ir}igz\i

IR I3 2R TAEMI ZEG L FEIAE O

Xw® 17,500 9,000 6-2LeH 4@ >t R 1. & % © 6,400 = (80 = x80 * =6,400

g4 P 2 ;ﬁ.ﬁ HALE P4 |113/05~08 | <)2. FEL% 1800 (20 & x40 *

PR A% NFRyEEIR (2L BB L =800 1) 3. HEE 8,000 < (200 &

&) FRE R EIRIE R R AEE x40 £ =8,000 <) 4. %% % 5,160 ~

73 SV Ny ) F (43 = x120 %=5,160 =) 5. & j|

a=vl /250 4,500 ~(F 15 ~ AR S B 2 GF

% Ny



2R
F PR
i

KrEgerp)6 et(zr 2
&) 11,640 &

ST
14T
I P
£

4 2L
RN

240,000

60,000




